
Kf;fpa Fwpg;Gfs; 

KOikahd  
ntg;gepiy 

nfy;tpd; msTNfhypYs;s jdpr;Rop ntg;gepiyia nghWj;J mstplg;gLk; 
ntg;gepiy KOikahd ntg;gepiy (my;yJ) ntg;g,af;ftpaypd; ntg;gepiy 
vd miof;fg;gLfpwJ. 

ntg;gr;rkepiy 
,uz;L my;yJ mjw;F Nkw;gl;l nghUs;fSf;fpilNa ve;j ntg;g Mw;wy; gupkhw;wKk; 
,y;iy vdpy; me;jg; nghUs;fs; ntg;gr;rkepiyapy; cs;sJ vd;W nghUs;. 

ntg;g Mw;wy; 
(m) ntg;gk; 

ntt;NtW ntg;gepiyapy; cs;s ,uz;L nghUl;fSf;F ,ilNa Mw;wy; 
gupkhw;wk; milfpwJ. ,jd; SI myF [Py;. 

fNyhhp xU fpuhk; epiwAs;s ePhpd; ntg;gepiyia 1°C cau;j;jj; Njitg;gLk; ntg;g 
Mw;wypd; msT xU fNyhhp vdg;gLk;. 

fpNyh fNyhhp xU fpNyhfpuhk; epiwAs;s ePhpd; ntg;gepiyia 1°C cau;j;jj; Njitg;gLk; 
ntg;g Mw;wypd; msT xU fpNyh fNyhhp vdg;gLk;. 

jputk; kw;Wk; thAtpy; ntg;gtpupT 

cz;ik ntg;g 
tpupT 

nfhs;fyd; ,y;yhky; Neubahf jputj;jpid ntg;gg;gLj;Jk; NghJ Vw;gLk; ntg;g tpupT. 

 cz;ik ntg;g tpupT Fzfk; : XuyF ntg;gepiy caHthy; jputj;jpy; 
mjpfupf;Fk; cz;ik gUkDf;Fk; mj;jputj;jpd; XuyF gUkDf;Fk; cs;s jfT. 

Njhw;w ntg;g 
tpupT 

nfhs;fydpd; tpuptpid nghUl;gLj;jhky; jputj;jpd; Njhw;w tpuptpid kl;Lk; 
fzf;fpy; nfhs;tNj jputj;jpd; Njhw;w ntg;g tpupT vdg;gLk;. 
 Njhw;w ntg;g tpupT Fzfk; : XuyF ntg;gepiy caHthy; jputj;jpy; 

mjpfupf;Fk; Njhw;w gUkDf;Fk; mj;jputj;jpd; XuyF gUkDf;Fk; cs;s 
jfT cz;ik Njhw;w tpupT Fzfk; vd miof;fg;gLk;. 

ghapy; tpjp khwh ntg;gepiyapy;> xU Fwpg;gpl;l epiwAila thAtpd; mOj;jk; mt;thAtpd; 
gUkDf;F vjpu;j;jftpy; mikAk;.  

rhu;y]; tpjp khwh mOj;jj;jpy; thAtpd; gUkd; mt;thAtpd; ntg;gepiyf;F NeHj;jftpy; mikAk;.  

mtNfl;Nuh tpjp 
khwh ntg;gepiy kw;Wk; mOj;jj;jpy;> thAtpd; gUkd;; mt;thAtpy; cs;s 
mZf;fs; my;yJ %yf;$Wfspd; vz;zpf;iff;F NeHj;jftpy; mikAk;.  

,ay;G 
thAf;fs; 

Fwpg;gpl;l ftu;r;rp tpirapdhy;> xd;Nwhnlhd;W ,iltpid Gupe;J nfhz;bUf;Fk; 
mZf;fs; my;yJ %yf;$Wfs; mlq;fpa thAf;fs; ,ay;G thAf;fs; vd miof;fg;gLk;. 

ey;ypay;G 
thAf;fs; 

xd;Nwhnlhd;W ,iltpid Gupahky; ,Uf;Fk; mZf;fs; my;yJ %yf;$Wfs; 
mlq;fpa thAf;fs; ey;ypay;G thAf;fs; MFk;. 

 

 

Kf;fpakhd R+j;jpuq;fs; 
 ePs; ntg;gtpupT, 

∆L

L0
=  αL∆T 

 gug;G ntg;gtpupT, 
∆A

A0
=  αA∆T 

 gUk ntg;gtpupT, 
∆V

V0
=  αV∆T 

Kf;fpakhd tpjpfs; 

 ghapy; tpjp, 𝑃 𝛼 
1

𝑉
 (i.e) PV = khwpyp 

 rhu;y]; tpjp, 𝑉 𝛼 𝑇 (i.e) 
𝑉

𝑇
 = khwpyp 

 mtNfl;Nuh tpjp, 𝑉 𝛼 𝑛 (i.e) 
𝑉

𝑛
 = khwpyp  

 ey;ypay;G thAr; rkd;ghL, PV = RT  
Kf;fpakhd SI myFfs; 

 ntg;gepiy - nfy;tpd; (K) 

 ntg;g Mw;wy; -  [_y; (J) 

Kf;fpakhd kjpg;Gfs; 

 mtNfl;Nuh vz; = 6.023 × 1023
 /Nkhy;. 

 Nghy;l;];Nkd; khwpyp = 1.381 × 10–23
 JK–1 

 nghJ thA khwpyp = 8.31 J Nkhy;−1 K−1 
 

Kf;fpakhd ntg;gepiy msTNfhy;fs; 

 /ghud;`Pl;bypUe;J nry;rpa];: ℃ =
5

9
(℉ − 32) 

 nry;rpa]pypUe;J /ghud;`Pl; ∶ ℉ =
9

5
℃ + 32 

 nfy;tpd;-ypUe;J nry;rpa]; : K =  ℃ + 273.15 

 nry;rpa]pypUe;J  nfy;tpd; ∶ ℃ =  K − 273.15 

 /ghud; P̀l;bypUe;J nfy;tpd; ∶ K = (℉ + 460) ×
5

9
 

 nfy;tpd;-ypUe;J /ghud;`Pl; : ℉ =  
9

5
 K − 460 

 
  

 


